ENCS2340 | Section 2 | Fall 2024/2025 Chapter 3 Solution - Extra Exercises-01

۶Z ۲ a F(X,Y,Z)= 2(0,Z,S,6,7) F may X xz+xz (\Box) 7 b. F(W, X, Y 5,7,12,13 14,15 F=wz+wx 0 0 0 0 0 0 0 0 12 15 19 1 ,1 may c. $F(A,B,C,D) = (\overline{A} + \overline{B} + D) (\overline{A} + \overline{D}) (A + B + \overline{D})$ (A+B+C+D $F(A,B,C,D) = ABD + AD + \overline{ABD} + \overline{ABCD}$ F= BD + ABD+ ABC 0 0 04 T + AC D 1 \wedge 0,3 0 015 0 0, 0 t map T $F(A,B,C,D) = A\overline{C} + \overline{B}D + \overline{A}CD + ABCD$ d ABD F CD+AC+BD 2 R 12 14 10

STUDENTS-HUB.com

H4 - 2List of all possible PIs: Essential? Χź ΣŸ 2 ωź YZ Yes WYZ WYX yes F= xy+wz +YZ+ wyz+wyx 6. F(w, x, y, z) = TT(1, 4, 6, 9, 12, 13)Essential ? Yes 2 0 YZ WXZ Yes $F(w,x,y,z) = xZ + yW + \overline{W}xZ + YX$ a+YZ 3. a. F(A, B, C, D) = TT(0,1,3,5,7,9,10,13,15) ARCD F= BD+ACD+ACD + ABCD OT: $= \overline{CD} + \overline{AD} + BD$ +ABE+ABED $F = \overline{F} = \overline{CD} + \overline{AD} + BD + \overline{ABC} + \overline{ABCD}$ $=(c+\overline{b})\cdot(A+\overline{b})\cdot(\overline{B}+\overline{b})\cdot(A+B+c)\cdot(\overline{A}+B+\overline{c}+D)$

H4-3 B, contd. (b) F(X,Y,Z) = xz' + Y'z' + Yz' + xy'SOP $F = \overline{z} + \overline{x}\overline{y}$ POS F = XZ + YZF=F= XZ+YZ = (x + z) (7 + z)(2)checking equivalence of 1 802 From 2= F=(x+2)(y+2) V+XZ+YZ+Z $\overline{z}(\underline{I}+\underline{x}+\overline{y})$ ×y+ 4. 0. $F(W,X,Y,Z) = \sum (2,4,7,10,12,14),$ d = (0, 3, 6, 8, 13)F=Z+WY WXYZ Emplemented F Xn 0,, (13) 1101 0. (8) 1000 b $F(x, y, z) = \sum (0, 1, 2, 4), d(x, y, z) = Y(Z+X)$ = Y x + Y Z $F = \overline{X} + \overline{Z}$

44-4 5. $F(A,B,C,D) = (A + \overline{B} + C + \overline{D})(A + \overline{B} + \overline{C} + \overline{D})$ $\overline{\overline{A}} + \overline{B} + C + \overline{\overline{D}}) (\overline{A} + \overline{B} + \overline{C} + \overline{D})$ M M M. = T(5,7,13,15) $F = \overline{B} + \overline{D}$ 0 - $\overline{w} \times (\overline{z} + \overline{y} z) + \chi (w + \overline{w} y z)$ $= \overline{w} \times [\overline{z} + \overline{z} \overline{y}] + \times [w + \overline{w} \overline{y} \overline{z}]$ (i) $= \overline{w} \times \left[(\overline{z} + z) (\overline{z} + \overline{y}) + \chi \left[(w + \overline{w}) (w + yz) \right] \right]$ = wxz+wxy+xw+xyz $\overline{w} \times \overline{z} + \times [w + \overline{w}\overline{y}] + \times y \overline{z}$ $= \overline{W} \times \overline{Z} + \times W + \times \overline{Y} + \times \overline{Y} Z$ = XW+ XWZ + XY+XYZ $= \times \left[w + \overline{w} \overline{z} \right] + \times \left[\overline{y} + \overline{y} \overline{z} \right]$ $= \times \left[(w + \overline{w}) (w + \overline{z}) \right] + \times \left[(\overline{y} + y) (\overline{y} + z) \right]$ $= x \left[w + \overline{z} \right] + x \left[\overline{y} + \overline{z} \right]$ $= \times \left[w + \overline{y} + \overline{z} + \overline{z} \right]$ — X

•	H4-5
($\vec{u} = \vec{w} \times (\vec{z} + \vec{y} \vec{z}) + \times (w + \vec{w} \times \vec{z})$ = $\vec{w} \times \vec{z} + \vec{w} \times \vec{y} \vec{z} + w \times \vec{w} \times \vec{y} \vec{z}$
	$\frac{\chi^2}{\chi^2} = \chi$
· · · ·	$ \begin{array}{c} 1 \\ 4 \\ 1 \\ 1 \\ 2 \\ 1 \\ 2 \\ 2 \\ 2 \\ 2 \\ 2 \\ 2$
	Z
· ·	
·	